

# New Result on Jeśmanowicz' conjecture

Abdulrahman Balfaqih, Hailiza Kamarulhaili

School of Mathematical Sciences  
Universiti Sains Malaysia  
Penang, 11800, Malaysia

email: mathsfriend417154@hotmail.com, hailiza@usm.my

(Received March 1, 2020, Accepted April 2, 2020)

## Abstract

Let  $(a, b, c)$  be a primitive Pythagorean triple. The Jeśmanowicz' conjecture, written in 1956, states that the only positive integer solution to the Diophantine equation  $(an)^x + (bn)^y = (cn)^z$  is  $(x, y, z) = (2, 2, 2)$ , where  $n$  is an arbitrary positive integer. Let  $p$  be an arbitrary prime greater than 3 and let  $\alpha$  and  $\beta$  be positive integers and  $y$  belongs to the set of even positive integers. In this paper, we show that if either  $P(a)|n$  or  $P(n) \nmid a$ , then the Jeśmanowicz' conjecture is true for Pythagorean triples  $(a, b, c) = (4k^2 - 1, 4k, 4k^2 + 1)$  with  $k = 2^\alpha p^\beta$ , where  $P(r)$  denotes the product of distinct prime factors of  $r$  for any positive integer  $r$  greater than 1.

## 1 Introduction

In 1956, Jeśmanowicz [2] showed that the only positive integer solution of the Diophantine equation

$$(an)^x + (bn)^y = (cn)^z, \quad (1.1)$$

is  $(x, y, z) = (2, 2, 2)$  for  $n = 1$  and  $(a, b, c) \in \{(5, 12, 13), (7, 24, 25), (9, 40, 41), (11, 60, 61)\}$ .

In 1998, Deng and Cohen [1] proved the following two results:

First, if  $(a, b, c) = (2k + 1, 2k(k + 1), 2k(k + 1) + 1)$  for some positive integer

---

**Key words and phrases:** Jeśmanowicz' conjecture, Pythagorean triple, Exponential Diophantine equation.

**AMS (MOS) Subject Classifications:** 11D61, 11A07.

**ISSN** 1814-0432, 2020, <http://ijmcs.future-in-tech.net>

$k$  with  $a$  being a prime power and  $n$  being a positive integer such that either  $P(b) \mid n$  or  $P(n) \nmid b$ , then Jeśmanowicz' conjecture is true.

Secondly, if  $(a, b, c) \in \{(3, 4, 5), (5, 12, 13), (7, 24, 25), (9, 40, 41), (11, 60, 61)\}$ , then Jeśmanowicz' conjecture is true as well.

In 1999, Le [3] gave specific conditions for the equation (1.1) to have positive integer solutions  $(x, y, z)$  with  $(x, y, z) \neq (2, 2, 2)$ . In particular, he showed that  $x, y$  and  $z$  must be distinct. In 2012, Yang and Tang [10] proved that the conjecture is true for  $(a, b, c) = (8, 15, 17)$ ; i.e., the only solution of the Diophantine equation  $(8n)^x + (15n)^y = (17n)^z$  is  $(x, y, z) = (2, 2, 2)$ , for  $n \geq 1$ . In 2013, Min Tang and Zhi-Juan Yang [9] considered Jeśmanowicz' conjecture for Pythagorean triples  $(a, b, c)$ , where  $a = c - 2$  and  $c$  is a Fermat prime and proved that if  $F_k = 2^{2^k} + 1$  is a Fermat prime, then for any positive integer  $n$ , the Diophantine equation

$$((F_k - 2)n)^x + \left(2^{2^{k-1}+1}n\right)^y = (F_k n)^z, \quad (1.2)$$

has no solution  $(x, y, z)$  satisfying  $z < \min\{x, y\}$ , where  $k$  is a positive integer. They also showed that if  $F_k = 2^{2^k} + 1$  and  $k \in \{1, 2, 3, 4\}$ , then, for any positive integer  $n$ , (1.2) has no solution other than  $(x, y, z) = (2, 2, 2)$ . In 2014, Deng [12] proved that Jeśmanowicz' conjecture is true for Pythagorean triples  $(a, b, c) = (4k^2 - 1, 4k, 4k^2 + 1)$  with  $k = 2^s$  for some positive integer  $s$  and certain divisibility conditions are satisfied. In 2015, Sun and Cheng [7] considered  $k = p^m$ , where  $m$  is some positive integer and  $p$  is a prime such that  $p \equiv -1 \pmod{4}$  and they showed that if the positive integer  $n$  is such that either  $P(4k^2 - 1) \mid n$  or  $P(n) \nmid (4k^2 - 1)$ , then the only solution of the Diophantine equation

$$((4k^2 - 1)n)^x + (4kn)^y = ((4k^2 + 1)n)^z \quad (1.3)$$

is  $(x, y, z) = (2, 2, 2)$ . In the same year 2015, Ma and Wu [16] proved two results:

First, if  $P(4k^2 - 1) \mid n$ , then the only solution of the Diophantine equation (1.3) is  $(x, y, z) = (2, 2, 2)$ .

Secondly, they considered  $k = p^m$ ,  $p$  prime and  $m \geq 0$  with  $p \equiv -1 \pmod{4}$  and showed that if  $n$  is a positive integer such that  $P(n) \nmid (4k^2 - 1)$ , then the only solution for the equation (1.3) is  $(x, y, z) = (2, 2, 2)$ . In 2017, Deng and Dong [13] considered Jeśmanowicz' conjecture for Pythagorean triples  $(a, b, c) = (u^2 - v^2, 2uv, u^2 + v^2)$ , where  $u$  and  $v$  are positive integers with  $u > v$ ,  $\gcd(u, v) = 1$ ,  $u \not\equiv v \pmod{2}$  and  $n = 1$ . They showed that Jeśmanowicz' conjecture is true if  $(u, v) \equiv (2, 3) \pmod{4}$  and  $v < 100$ . In

the same year 2017, Mi and Chen [20] considered Jeśmanowicz' conjecture for Pythagorean triples  $(a, b, c) = (u^2 - v^2, 2uv, u^2 + v^2)$ , where  $u$  and  $v$  are positive integers with  $u > v$ ,  $\gcd(u, v) = 1$ ,  $2 \nmid u + v$  and  $n = 1$ . As a result, they showed that Jeśmanowicz' conjecture is true if  $4 \nmid uv$  and  $y \geq 2$ . In 2013, Miyazaki [22] broadly extended many of classical well-known results on the conjecture for  $n = 1$ . In 2014, Terai [15] considered Jeśmanowicz' conjecture for Pythagorean triples  $(a, b, c) = (u^2 - v^2, 2uv, u^2 + v^2)$ , where  $u$  and  $v$  are positive integers with  $u > v$ ,  $\gcd(u, v) = 1$ ,  $u \not\equiv v \pmod{2}$  and  $n = 1$ . He showed that if  $v = 2$ , then the Jeśmanowicz' conjecture is true. In 2014, Miyazaki Yuan and Wu [24] established the conjecture for the case where  $b$  is even and either  $a$  or  $c$  is congruent to  $\pm 1$  modulo the product of all prime factors of  $b$ . In 2015, Yang and Ruiqin [23] considered Jeśmanowicz' conjecture for Pythagorean triples  $(a, b, c) = (u^2 - v^2, 2uv, u^2 + v^2)$ , where  $u$  and  $v$  are positive integers with  $u > v$ ,  $\gcd(u, v) = 1$  and  $2 \mid uv$ . They stated that a positive integer solution  $(x, y, z, n)$  of the equation (1.1) is called exceptional if  $(x, y, z) \neq (2, 2, 2)$  and  $n > 1$ . They proved the following results: (i) If  $x = y$ ,  $y > z$  and  $n > 1$ , then the equation (1.1) has no positive integer solutions  $(x, y, z)$ , (ii) If  $(x, y, z, n)$  is an exceptional solution of the question (1.1), then either  $y > z > x$  or  $x > z > y$ , (iii) The equation (1.1) has no exceptional solutions  $(x, y, z, n)$  with  $y > z > x$ , if  $u = 2^r$  and  $v = 2^r - 1$ , where  $r$  is a positive integer, (iv) The equation (1.1) has no exceptional solutions  $(x, y, z, n)$ , if  $u = 2^r$  and  $v = 2^r - 1$  are odd primes, where  $r$  is a positive integer; i.e., the Jeśmanowicz' conjecture is true. In 2018, Hu and Le [25] considered  $a, b, c$  as fixed coprime positive integers such that  $\min\{a, b, c\} > 1$ . He proved that if  $\max\{a, b, c\} > 5 \times 10^{27}$ , then the equation  $a^n + b^n = c^z$  has at most three positive integer solutions  $(x, y, z)$ . In 2015, Miyazaki and Terai [26] considered Jeśmanowicz' conjecture for Pythagorean triples  $(a, b, c) = (u^2 - v^2, 2uv, u^2 + v^2)$ , where  $u$  and  $v$  are positive integers with  $u > v$ ,  $\gcd(u, v) = 1$ ,  $u \not\equiv v \pmod{2}$  and  $n = 1$ . As a result, they proved that if  $v$  satisfies at least one of three conditions (i)  $v/2$  is a power of an odd prime, (ii)  $v/2$  has no prime factors congruent to 1 modulo 8, (iii)  $v/2$  is a square, then the conjecture is true. In 2017, Deng and Guo [17] considered Jeśmanowicz' conjecture for Pythagorean triples  $(a, b, c) = (u^2 - v^2, 2uv, u^2 + v^2)$ , where  $u$  and  $v$  are positive integers with  $u > v$ ,  $\gcd(u, v) = 1$ ,  $u \not\equiv v \pmod{2}$  and  $n = 1$ . They proved Jeśmanowicz' conjecture in the following cases: (i)  $(u, v) \equiv (1, 2) \pmod{4}$ , (ii)  $(u, v) \equiv (3, 2), (7, 6) \pmod{8}$  or  $(u, v) \equiv (3, 6), (7, 2), (11, 14), (15, 10) \pmod{16}$ , (iii)  $(u, v) \equiv (3, 14), (7, 10), (11, 6), (15, 2) \pmod{16}$  and  $y > 1$ , where  $(u, v) \equiv (s, r) \pmod{d}$  denotes  $u \equiv s \pmod{d}$  and  $v \equiv r \pmod{d}$ . In 2018, Han and Yuan [14] considered Jeśmanowicz'

conjecture for Pythagorean triples  $(a, b, c) = (u^2 - v^2, 2uv, u^2 + v^2)$ , where  $u$  and  $v$  are positive integers with  $u > v$ ,  $\gcd(u, v) = 1$ ,  $u \not\equiv v \pmod{2}$  and  $n = 1$ . They showed that if  $2 \parallel uv$  and  $u + v$  has a prime factor  $p$  with  $p \not\equiv 1 \pmod{16}$ , then Jeśmanowicz' conjecture is true. Jeśmanowicz' conjecture has been proved for some special cases (See, [5], [8], [11], [6], [18] and [19]). However, in general, the problem is not solved as yet and it is one of the most famous unsolved problems on Pythagorean triples.

## 2 Main Result

Our main result is the following Theorem:

**Theorem 2.1.** *Let  $(a, b, c) = (4k^2 - 1, 4k, 4k^2 + 1)$  be a primitive Pythagorean triple with  $k = 2^\alpha p^\beta$  where  $p$  is arbitrary prime greater than 3 and  $\alpha, \beta$  are positive integers with  $y$  belongs to the set of even positive integers. Suppose that  $n$  is a positive integer such that either  $P(a) | n$  or  $P(n) \nmid a$ . Then Jeśmanowicz' conjecture is true.*

## 3 Preliminary Results

In this section, we provide some lemmas which will be used in the proof of Theorem 2.1.

**Lemma 3.1.** *(see [4], 39-41) The only positive integer solution of the Diophantine equation  $(4k^2 - 1)^x + (4k)^y = (4k^2 + 1)^z$  is  $(x, y, z) = (2, 2, 2)$ .*

**Lemma 3.2.** *(see [12], Corollary 2.4) Let  $(a, b, c)$  be any primitive Pythagorean triple such that the Diophantine equation  $a^x + b^y = c^z$  has the only positive integer solution  $(x, y, z) = (2, 2, 2)$ . If  $(x, y, z)$  is a solution of equation (1.1) with  $(x, y, z) \neq (2, 2, 2)$ , then one of the following conditions is satisfied:*

1.  $x > z > y$  and  $P(n) | b$ ;
2.  $y > z > x$  and  $P(n) | a$ .

**Lemma 3.3.** *( [16], Theorem 1.1) Let  $(a, b, c) = (4k^2 - 1, 4k, 4k^2 + 1)$  be a primitive Pythagorean triple. If  $n$  is a positive integer such that  $P(a) | n$ . Then Eq. (1.1) has only a positive integer solution  $(x, y, z) = (2, 2, 2)$ .*

In the following lemmas, we will assume that  $(a, b, c) = (4k^2 - 1, 4k, 4k^2 + 1)$  with  $k = 2^\alpha p^\beta$ , where  $p$  is arbitrary prime greater than 3 with  $\alpha, \beta$  are positive integers and  $y$  belongs to the set of even positive integers.

**Lemma 3.4.** *If  $n = 2^r$  with  $r \geq 1$ , then Jeśmanowicz' conjecture is true.*

*Proof.* Suppose that  $(x, y, z)$  is a solution of equation (1.1) with  $(x, y, z) \neq (2, 2, 2)$ . We will show that this leads to a contradiction. Since  $P(n) \nmid a$ , by **Lemma 3.2**, we have  $x > z > y$  and  $P(n) \mid b$ . So rewrite equation (1.1) as

$$b^y = n^{z-y}(c^z - a^x n^{x-z}), \tag{3.4}$$

since  $b = 4k = 2^{\alpha+2}p^\beta$  and  $n = 2^r$  with  $r \geq 1$ . Hence the equation (3.4) becomes

$$[2^{\alpha+2}p^\beta]^y = 2^{r(z-y)} [(2^{2\alpha+2}p^{2\beta} + 1)^z - (2^{2\alpha+2}p^{2\beta} - 1)^x 2^{r(x-z)}].$$

So

$$2^{(\alpha+2)y} = 2^{r(z-y)},$$

and

$$p^{\beta y} = (2^{2\alpha+2}p^{2\beta} + 1)^z - (2^{2\alpha+2}p^{2\beta} - 1)^x 2^{r(x-z)}. \tag{3.5}$$

From equation (3.5), we get  $1 \equiv 2^z \pmod{3}$ , where  $y$  is even. Thus  $z \equiv 0 \pmod{2}$ . So, let  $z = 2z_1$  with  $z_1 > 1$  and  $\beta y = 2y_1$ . Then rewrite equation (3.5) as

$$a^x 2^{r(x-z)} = (2^{\alpha+1}p^\beta - 1)^x (2^{\alpha+1}p^\beta + 1)^x 2^{r(x-z)} = (c^{z_1} - p^{y_1})(c^{z_1} + p^{y_1}).$$

Noting that  $(c^{z_1} - p^{y_1}, c^{z_1} + p^{y_1}) = 2$ , we can write  $a = a_1 a_2$ , where  $\gcd(a_1, a_2) = 1$  with

$$a_1^x \mid c^{z_1} + p^{y_1} \text{ and } a_2^x \mid c^{z_1} - p^{y_1}. \tag{3.6}$$

Now if  $a_1 < 2^{\alpha+1}p^\beta + 1$  and  $a_2 < 2^{\alpha+1}p^\beta + 1$ , then

$$a_1 \leq 2^{\alpha+1}p^\beta - 1 \text{ and } a_2 \leq 2^{\alpha+1}p^\beta - 1.$$

Therefore,

$$a = a_1 a_2 \leq (2^{\alpha+1}p^\beta - 1)^2 < (2^{\alpha+1}p^\beta - 1)(2^{\alpha+1}p^\beta + 1) = a,$$

which is impossible. So, either

$$a_1 \geq 2^{\alpha+1}p^\beta + 1 \text{ or } a_2 \geq 2^{\alpha+1}p^\beta + 1. \tag{3.7}$$

If  $a_1 \geq 2^{\alpha+1}p^\beta + 1$ , then

$$a_1^2 \geq (2^{\alpha+1}p^\beta + 1)^2 = c + 2^{\alpha+2}p^\beta > c + p^\beta.$$

Thus,

$$a_1^x > (a_1^2)^{z_1} > (c + p^\beta)^{z_1} > c^{z_1} + p^{\beta z_1} > c^{z_1} + p^{y_1},$$

and this contradicts (3.6). Similarly, if  $a_2 \geq 2^{\alpha+1}p^\beta + 1$ , then

$$a_2^x > (a_2^2)^{z_1} > (c + p^\beta)^{z_1} > c^{z_1} + p^{\beta z_1} > c^{z_1} + p^{y_1} > c^{z_1} - p^{y_1},$$

and this contradicts (3.6). So the Diophantine equation (1.1) has only positive integer solution  $(x, y, z) = (2, 2, 2)$ . □

**Lemma 3.5.** *If  $n = p^s$  with  $s \geq 1$ , then Jeśmanowicz’ conjecture is true.*

*Proof.* Suppose that  $(x, y, z)$  is a solution of equation (1.1) with  $(x, y, z) \neq (2, 2, 2)$ . We will show that this leads to a contradiction. Since  $P(n) \nmid a$ , where  $a = 2^{2(\alpha+1)}p^{2\beta} - 1$  by Lemma 3.2, we have  $x > z > y$  and  $P(n) \mid b$ . Since  $b = 4k = 2^{\alpha+2}p^\beta$  and  $n = p^s$  with  $s \geq 1$ , equation (1.1) becomes

$$2^{(\alpha+2)y}p^{\beta y} = p^{s(z-y)} \left[ (2^{2\alpha+2}p^{2\beta} + 1)^z - (2^{2\alpha+2}p^{2\beta} - 1)^x p^{s(x-z)} \right].$$

So

$$\beta y = s(z - y),$$

and

$$2^{(\alpha+2)y} = (2^{2\alpha+2}p^{2\beta} + 1)^z - (2^{2\alpha+2}p^{2\beta} - 1)^x p^{s(x-z)}. \tag{3.8}$$

Then, from equation (3.8), we have  $1 \equiv 2^z \pmod{3}$ . Thus  $z \equiv 0 \pmod{2}$ . So, let  $z = 2z_1$  with  $z_1 > 1$  and  $y = 2y_1$ . Then rewrite equation (3.8) as

$$a^x p^{s(x-z)} = (2^{\alpha+1}p^\beta - 1)^x (2^{\alpha+1}p^\beta + 1)^x p^{s(x-z)} = (c^{z_1} - 2^{(\alpha+2)y_1}) (c^{z_1} + 2^{(\alpha+2)y_1}).$$

Noting that  $(c^{z_1} - 2^{(\alpha+2)y_1}, c^{z_1} + 2^{(\alpha+2)y_1}) = 1$ , we can write  $a = a_1 a_2$ , where  $\gcd(a_1, a_2) = 1$  with

$$a_1^x \mid c^{z_1} + 2^{(\alpha+2)y_1} \text{ and } a_2^x \mid c^{z_1} - 2^{(\alpha+2)y_1}. \tag{3.9}$$

By (3.7) we either have  $a_1 \geq 2^{\alpha+1}p^\beta + 1$  or  $a_2 \geq 2^{\alpha+1}p^\beta + 1$ . If  $a_1 \geq 2^{\alpha+1}p^\beta + 1$ , then

$$a_1^2 \geq (2^{\alpha+1}p^\beta + 1)^2 = c + 2^{\alpha+2}p^\beta > c + 2^{\alpha+2}.$$

Thus,

$$a_1^x > (a_1^2)^{z_1} > (c + 2^{\alpha+2})^{z_1} > c^{z_1} + 2^{(\alpha+2)z_1} > c^{z_1} + 2^{(\alpha+2)y_1},$$

and this contradicts (3.9). Similarly, if  $a_2 \geq 2^{\alpha+1}p^\beta + 1$ , then we get

$$a_2^x > (a_2^2)^{z_1} > (c + 2^{\alpha+2})^{z_1} > c^{z_1} + 2^{(\alpha+2)z_1} > c^{z_1} + 2^{(\alpha+2)y_1} > c^{z_1} - 2^{(\alpha+2)y_1},$$

and this contradicts (3.9). So the Diophantine equation (1.1) has only positive integer solution  $(x, y, z) = (2, 2, 2)$ .  $\square$

**Lemma 3.6.** *If  $n = 2^r p^s$  with  $r \geq 1$  and  $s \geq 1$ , then Jeśmanowicz' conjecture is true.*

*Proof.* Suppose that  $(x, y, z)$  is a solution of equation (1.1) with  $(x, y, z) \neq (2, 2, 2)$ . We will show that this leads to a contradiction. Since  $P(n) \nmid a$  where  $a = 2^{2(\alpha+1)}p^{2\beta} - 1$ , by Lemma 3.2, we have  $x > z > y$  and  $P(n) \mid b$ . Since  $b = 4k = 2^{\alpha+2}p^\beta$  and  $n = 2^r p^s$  with  $r \geq 1$  and  $s \geq 1$ , equation (1.1) becomes

$$2^{(\alpha+2)y}p^{\beta y} = (2^r p^s)^{z-y} (c^z - a^x (2^r p^s)^{x-z}).$$

So

$$(\alpha + 2)y = r(z - y),$$

and

$$p^{\beta y} = p^{s(z-y)} (c^z - a^x (2^r p^s)^{x-z}).$$

Since  $\gcd(p, c^z - a^x (2^r p^s)^{x-z}) = 1$ ,  $\beta y = s(z - y)$  and

$$c^z - a^x (2^r p^s)^{x-z} = 1, \tag{3.10}$$

Then, by equation (3.10), we have  $1 \equiv 2^z \pmod{3}$ . Thus  $z \equiv 0 \pmod{2}$ . So let  $z = 2z_1$  and  $z_1 > 1$ . Then rewrite equation (3.10) as

$$(2^{\alpha+1}p^\beta - 1)^x (2^{\alpha+1}p^\beta + 1)^x (2^r p^s)^{x-z} = (c^{z_1} - 1)(c^{z_1} + 1).$$

Noting that  $(c^{z_1} - 1, c^{z_1} + 1) = 2$ , we can write  $a = a_1 a_2$ , where  $\gcd(a_1, a_2) = 1$  with

$$a_1^x \mid c^{z_1} + 1 \text{ and } a_2^x \mid c^{z_1} - 1. \tag{3.11}$$

By (3.7) we have either  $a_1 \geq 2^{\alpha+1}p^\beta + 1$  or  $a_2 \geq 2^{\alpha+1}p^\beta + 1$ . If  $a_1 \geq 2^{\alpha+1}p^\beta + 1$ , then

$$a_1^2 \geq (2^{\alpha+1}p^\beta + 1)^2 = c + 2^{\alpha+2}p^\beta > c + 1.$$

Thus,

$$a_1^x > (a_1^2)^{z_1} > (c+1)^{z_1} > c^{z_1} + 1,$$

and this contradicts (3.11). Similarly, if  $a_2 \geq 2^{\alpha+1}p^\beta + 1$ , then we get

$$a_2^x > (a_2^2)^{z_1} > (c+1)^{z_1} > c^{z_1} + 1 > c^{z_1} - 1,$$

and this contradicts (3.11). So the Diophantine equation (1.1) has only positive integer solution  $(x, y, z) = (2, 2, 2)$ .  $\square$

## 4 Proof of Theorem 2.1

By Lemma 3.1, this is immediate for  $n = 1$ , it from . We now prove the result for  $n \geq 2$ . We have two cases to prove:

**First Case.** If  $P(a) \mid n$ , then this case is an immediate consequence of Lemma 3.3; i.e., Eq. (1.1) has only a positive integer solution  $(x, y, z) = (2, 2, 2)$ .

**Second Case.** If  $P(n) \nmid a$ . In this case we suppose that  $(x, y, z)$  is a solution of equation (1.1) with  $(x, y, z) \neq (2, 2, 2)$ . By Lemma 3.2, we have  $x > z > y$  and  $P(n) \mid b$ . Since  $b = 4k = 2^{\alpha+2}p^\beta$ , we can write  $n = 2^r p^s$ , where  $r + s \geq 1$ . Thus equation (1.1) becomes

$$2^{(\alpha+2)y} p^{\beta y} = (2^r p^s)^{z-y} (c^z - a^x (2^r p^s)^{x-z}). \quad (4.12)$$

Thus, we consider three subcases as follows:

1. If  $r \geq 1$  and  $s = 0$ , then  $n = 2^r$ ,
2. If  $s \geq 1$  and  $r = 0$ , then  $n = p^s$ ,
3. If  $r \geq 1$  and  $s \geq 1$ , then  $n = 2^r p^s$ .

By applying Lemmas 3.4, 3.5 and 3.6, we get a contradiction. Therefore, the Diophantine equation (1.1) has only one positive integer solution  $(x, y, z) = (2, 2, 2)$ . This completes the proof of Theorem 2.1.



## 5 Acknowledgment

This work was supported by the Research University funding, account number 1001 / PMATHS / 8011121, Universiti Sains Malaysia.

## References

- [1] Mou-Jie Deng, G. L. Cohen, On the conjecture of Jeśmanowicz concerning Pythagorean triples, *Bulletin of the Australian Mathematical Society*, **57**, no. 3, (1998), 515–524.
- [2] L. Jeśmanowicz, Several remarks on Pythagorean numbers, *Wiadom. Mat. (2)*, *Roczniki Polskiego Towarzystwa Matematycznego, Seria II*, **1**, (1955/1956), 196–202,
- [3] Maohua Le, A note on Jeśmanowicz'conjecture concerning Pythagorean triples, *Bulletin of the Australian Mathematical Society*, **59**, no. 3, (1999), 477–480.
- [4] Wen-twan Lu, On the Pythagorean Numbers  $4n^2 - 1, 4n, 4n^2 + 1$ , *Journal of Sichuan University (Natural Science Edition)*, **2**, (1959), 39–42.
- [5] W. Sierpiński, On the equation  $3^x + 4^y = 5^z$ , *Wiadom. Mat. (2)*, *Roczniki Polskiego Towarzystwa Matematycznego, Seria II*, **1**, (1955/1956), 194–195.
- [6] Gökhan Soydan, Musa Demirci, Ismail Naci Cangul, Alain Togbé, On the Conjecture of Jeśmanowicz, *International Journal of Applied Mathematics and Statistics*, **56**, no. 6, (2017), 46–72.
- [7] Cuifang Sun, Zhi Cheng, On Je'smanowicz Conjecture Concerning Pythagorean Triples, *Journal of Mathematical Research with Applications*, **35**, no. 2, (2015), 143–148.
- [8] Min Tang et. al., Jeśmanowicz'Conjecture with Fermat Numbers, *Taiwanese Journal of Mathematics*, **18**, no. 3, (2014), 925–930.
- [9] Min Tang, Zhi-Juan Yang, Jeśmanowicz conjecture revisited, *Bulletin of the Australian Mathematical Society*, **88**, no. 3, (2013), 486–491.

- [10] Zhi-Juan Yang, Min Tang, On the Diophantine equation  $(8n)^x + (15n)^y = (17n)^z$ , Bulletin of the Australian Mathematical Society, **86**, no. 2, (2012), 348–352.
- [11] Zhi-Juan Yang, W. Jianxin, On the Diophantine equation  $(12n)^x + (35n)^y = (37n)^z$ , Pure and App. Math., **28**, (2012), 698–704.
- [12] Mou Jie Deng, A Note on the Diophantine Equation  $(an)^x + (bn)^y = (cn)^z$ , Bulletin of the Australian Mathematical Society, **89**, no. 2, (2014), 316–321.
- [13] Mou-Jie Deng, Dong-Ming Huang, A note on Jeśmanowicz conjecture concerning primitive Pythagorean triples, Bulletin of the Australian Mathematical Society, **95**, no. 1, (2017), 5–13.
- [14] Q. Han, P. Yuan, A note on Jeśmanowicz conjecture, Acta Mathematica Hungarica, **156**, no. 1, (2018), 220–225.
- [15] Nobuhiro Terai, On Jeśmanowicz' conjecture concerning primitive Pythagorean triples, Journal of Number Theory, **141**, (2014), 316–323.
- [16] Mi-Mi Ma, Jian-Dong Wu, On the Diophantine equation  $(an)^x + (bn)^y = (cn)^z$ , Bull. Korean Math. Soc., **52**, no. 4, (2015), 1133–1138.
- [17] Mou-Jie Deng, Jin Guo, A note on Jeśmanowicz conjecture concerning primitive Pythagorean triples. II, Acta Mathematica Hungarica, **153**, no. 2, (2017), 436–448.
- [18] Pingzhi Yuan, Qing Han, Jeśmanowicz conjecture and related equations, Acta Arith., **184**, no. 1, (2018), 37–49.
- [19] Kei Takakuwa et. al., A remark on Jeśmanowicz' conjecture, Proceedings of the Japan Academy, Series A, Mathematical Sciences, **72**, (1996), no. 6, 109–110.
- [20] Mi-Mi Ma, Yong-Gao Chen, Jeśmanowicz conjecture on Pythagorean triples, Bulletin of the Australian Mathematical Society, **96**, no. 1, (2017), 30–35.
- [21] Takafumi Miyazaki, The Shuffle Variant of Jeśmanowicz conjecture concerning Pythagorean triples, Journal of the Australian Mathematical Society, **90**, no. 3, (2011), 355–370.

- [22] Takafumi Miyazaki, Generalizations of classical results on Jeśmanowicz conjecture concerning Pythagorean triples, *Journal of Number Theory*, **133**, no. 2, (2013), 583–595.
- [23] Hai Yang, Ruigin Fu, A note on Jeśmanowicz' conjecture concerning primitive Pythagorean triples, *Journal of Number Theory*, **156**, (2015), 183–194.
- [24] Takafumi Miyazaki, Pingzhi Yuan, Danyao Wu, Generalizations of classical results on Jeśmanowicz' conjecture concerning Pythagorean triples II, *Journal of Number Theory*, **141**, (2014), 184–201.
- [25] Yongzhong Hu, Maohua Le, An upper bound for the number of solutions of ternary purely exponential Diophantine equations, *Journal of Number Theory*, **183**, (2018), 62–73.
- [26] T. Miyazaki, N. Terai, On Jeśmanowiczconjecture concerning primitive Pythagorean triples II, *Acta Mathematica Hungarica*, **147**, no. 2, (2015), 286–293.